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Tt @ ford A
Instructions for the candidates: _
1 qhemelf o T o wel ol
Candidatas are required to give their answers in their own words as far as practicable.
2 TR e afr W RY &7 ¥F [iE e avd &/
Figures in the right hand margin indicate full marks. -
3 W I VTP ArIgEs 05 @ for 15 e @1 JfoRaE §HY [Ra1 T § 1
15 Minutes of extra time has been allotted for the candidates to read the questions carefully.
¢ TEFTT-yy e Al AL g Sy T qE ~ ./
This question paper is divided :‘nra‘ two Sections - Section - A and Section-B. -

5. @ve —a ¥ 50 TEGAT W & T A 81 (79w @ f 1 9% FERa &), §7@T Y
JueEr #vd T OMR- GTY UFF 4 RY 79 wE g @ @t/ Hel i 97 6 W/
faref} At WO @ FIEETR/ T Vel S,/ TG e T e GaT 4 AT @ F

& e R TR S T | _
In Section - A, theré are 50 objective type questions which are compulsory, each camying 1 mark. Darken
the circle with blue/black ball pen against the correct option on OMR Answer Sheet provided to you.

- Do not use Whitener/Liquid/Blade/Nail etc. on OMR Sheet; otherwise the result will be invalid.

6 @VE - 7 ¥ 25 AY IOT §T EF (10 B R 2 9 iR &) ford @ e 15 Wt @1

gwe 297 9 81 g s 3 wve ¥ 8 9 w7 v R T & (ikw @ R s o

FrifRe &) ford & Fseft ¢ wret @ o @1 21 _
In Section - B, there are 25 short answer lype questions (each carrying 2 marks), out of which any 15
questions are to be answared. Apart from this, there are 8 Long Answer Type queslions (Each Carrying §

marks).Oul of which any 4 questions to be answered.
[ g @ FAagiaE Suaer @1 FT Qkaar affd 8/

.Use of any elecironic appliances is striclly prohibited.
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Wvg -3/ SECTION - A

TS ¥ /Objective Type Questions
7T W 1 ® 50 7 B 4R 4T B o AR Ao Ry 7y & Rl o) v wed @) 9 & §7

Ty W Raeq 7t OMR ~ ¥e ¢ R &9 (s0x1=50)
Question No. 1 to 50 have four options, out of which only ane is correct, You have to mark, your selected
option, on the OMR - Sheet. ; . (50x1=50)

L P ¥ 2 R wlawor 8 &

Which of the following is not r;guadrnlig equation?

*N (x+ 27 =x( % 1) B)  (x+1P=2x-3)
(© '-'t’{32>(x+2)=sl & ¥l
2, WHONOT H X +2y+ 5 =0T -3x-6y+1=0F ¥ -
BV -2 W
S 9% B T SO A e
Pair of equations x + 2y + 5=0and -3x - 6y + 1 = 0 have-
(A) Unique solution (B) Infinite solution
(C) No solution . (D) None of thesa!'
3. fEuw 75 x2-2 B9 € -
Zeros of the quadratic polynomial x*- 2 are -
A) Q2 B V2
€ V2,-V2. | @ -2,-2
" TR AR £ 2, 6, 10, Moo, BT T TG 82 87
(A)  1sdl (B)  20d
© 213 ' D) 2z
Which term of the AP: 2,6, 10, 14, .......... is 822
A) 15" B) 20®
© . o 22
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5. P4 2)31‘1‘%{1(8 6}ﬂﬁﬁﬁﬁﬂﬁﬂmﬂ€$ﬂwﬁﬁ$m€-
The conrdmaj;s of the midpoint of theJine segment } joining the points P(-4, 2} and Q(8. 6) are -

A G ® (1LY

1 .
6. Wﬁ?wﬁﬁmwﬁﬁmm%%ﬁﬂwmﬁﬁﬁwmrﬁmmmg al

M o g T B
(A)  3599HP B)  1437%4° |
(C) 287479 D) 3-11? ¥ B T8

From a solid cube of edge 14 cm, a sphere of largest volume is cut. Appfoxima:e volume of sphere
; : i )y

L

@9 © @2

is -
) - 3w . ® 4T

Q) 2874cm’- (D)
7 fg/p(xbxz—:.’ix—ti,ﬂ?p{x)ﬁﬁﬁﬁ?ﬁ%—

pr(xj=x3-3x-4.thenunepfﬂlezemspf p(x)\is - |

A) 2 Q_ 4
© 0 (D) 3

8 IR 3 waey Pl S Sawal &1 U 64: 121 B, W T WA fonell b1 U BT-

I the ratio efageas of two similar triangles is ﬁ : 121, then the ratio of their corresponding sides

" None of these

is -

ua sl ® 8:12

€ 12:14 D 11:8
9. cos(90°-A) = '

(A) -~ cotA . (Bl sinA

(€ tnA D) secA
[T! 0] C 3 Page 3 of 16
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4

10\ 3R p don g @ e et A ST AW B

(A) 2 (B) 0
() 1912 \@ 1

If p and q are two prime numbers. then their HCF is -
(A 2 (B) 0
| (C) Either 1 or 2 (D) |

11.°.38.5 ¥ dwer I g A Proa @ -

A)  7ER (B) <735 ¥

©  105%h @ A e

The radius of a circle with area 38.5 cm? is -

(A) 7cm By 35cm

-((;) 10.5 cm (D)  None of these
12.. os1° ¢os2° co§3°........ c0s90° =

(A) 0 (B) 1

(C) -1 < (D) | V2

13. 515 9k 20 @ . W 3R A W P AT € -

The ratio between the LCM and HCF of 5, 15 and 20 is -

A 9:1 (B) 4\3~
© 1:1 (D) A2:1
Page 4 of 16
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W oo Y S ga ) @) W Rl ae s b g, dnedidl £

N Sha (B)
oy A g A

b 1y

©) (AR 1) DA
A line which intersects a circle al two distinct points is known as -

(A) Chord (B) Tangent

(Ci Both (A) and (B) (D) None of these ’
15, af fom AR b’ +ax +c=0 & T A &, -

If roots of the quadratic equation lbxj + ax + ¢.= () are equal, then-

WA bl-dac=0 (B) 4’-dac=0

(C) c-4ab=0 (Dy  a*-4bc=0

16w O aniroy iR WaR B AIeg de B e 6

The product of the smallest prime number and the smallest composite number s -

(A) 10 (B) 6

€ 3 ;.Qr’ 4
17. ;iq{ﬂ*ms’éz |

a) I B) 2

(©) 0 (D) .

18, Prer 3 @ ¥ e e ) iR @ & v €

Which of the following cannot be the probability at an event?

J(A) 35 | - B 02
© 03, (D) .60%
[1 10] C Page 5 of 16
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19. s Sof) - &4 81 48,45, . &1 (0d1 nE 2

{A) o (M 0

(D) g e Aaf

‘(1! _1‘?

The 10™ termof AP 54 51,4845, ... 18-

(A) 57 (B 30

() i (D) None of these

= f
i

20. f} 2 Pr@ ABC @71 PQR A £A = £P. /B = £Q. £C= /R, @ -
If in two triangles ABC and PQR. ZA = £P, £B = £Q, £C = ZR. then -

{A)  APQR -~ ACAB (B)  APQR ~ABCA

(C)  ACBA - APQR (D)  AABC ~ APOR
21. =g (2V3,—V2) fo% urg # Rer &7

(A) WH Oig @{ g urg

(C) g U ; M) =Y U

In which quadrant does the point (21.@, -m lie?

(A)  1"quadrant (B) 2™ quadrant

(C)  3®quadrant (D) 4 quadrant

22, A2 TR kxdSy=2 AT 6x+2y=7 B DI & 7 &, Al —
If the equations kx - 5y = 2 and 6x +2y =7 have no solutions, then-

A k=-10 B) k=5
€ k=-6 D) k=-15

23. fX Scosh=3, T 3tand @ A BT
If ScosB=3, then the value of 3tan® will be -

(A) 3 (B) 5
© 4 o 7
[110] C Page 6 of 16
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Famgdi Ws:ﬂ.ﬁmﬁmﬁ
2, ﬁmaﬂamﬁmﬂuﬂz .3 ¢ T I F

- d their heights are in the ratio 5 : 3. then their volumes
Radii of two cylmders are in the ratio 2 : 3 an .

are in the ratio - —_

(A) 27:20 1 ;gmp)) :
C 4:9 - | N

25 ;ﬁ)m#aﬁmrmwﬁ"ﬁ%wﬁwﬁﬁﬁmﬁﬁ?maﬁm
) g @@ @) TR & T

% piphe \ {D} A f solutions
If the graph of WO linear muauons in two variables is intersecting lines, then the number 0

is - ) |

(A)  Onlyone (B) No solution '

(C) [nfinite solutions . @)  None of these .C

Zﬁ/quasme cnsﬁﬁ’lﬂﬁa‘ﬂfﬁwé?
If smﬁ - cosf, then® is l:qual to-
wy e B)  30°
®. W (D) 60°
\
27 @ G B B qon SuE HA ¢ AR h § @ S 3

The radius and height of a cone are r and h respectively, then its volume is -

4
(A)  ;mreh ®  arh
9/ -i-nr"'h (D) nr?h
3

28. K x +3, X +HEX¥ 9 TU x + 12 T VIR A"G B-
The arithmetic mean of X, x + 3, x +6,x+9 and x + 12 is -
A x+6 ' B) x+5
(C) X+7 _ (D) x+8
29, QiR 50 4 fww T A wem & -

" The number of odd numbers between 0 and 50 is -

(A) 26 \(By 25
(C) 27 (D) 24
[110]0 : .Page?aﬂs
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P, | o — ‘ i 'h e n- 3
M. g e gre g™ £ wn ¥ ot et ) POV L E R il o Iﬂ wf g

-

1 - 8 o the afigle of
} N oo ihe whad 4 & verin M pave 18 1 hmes the height o the p‘uh‘ then the angle «
i the Length of the shindra of & vo7IR & R

oy s ol the qah
Wy
(A} 4%° (m

2o -
i 78" ﬂl{ Al
M. we B o« MY AT ERD 0 R My FEA ¢

1 the mean of &8, 9. v and 1328 10, then the valoe of vis
(m 11
() 15

TYR T
©r
2. 77 @ E ABC # ud e a2 @ ga Fard &ft -

\Dnr of the side of an equilateral triangle is 24. then its hﬁght i -

(A) 3a m V3a
(€ 3 a3 %ﬁﬂ,

&t_f:zmémﬂtzqﬁauﬁﬂqmé.gﬂaﬁwﬁmmmhmwmmﬂﬁ*
Rinok-oleil 3

A man goes 24 m West, againhe goes 10 m North. Now at what distance is the man from his initial

point? |
w P m @) 17m
) 2%m (D) 28m
M. 4. 15,22,13,9, 10T 30 @1 GRER B~
Range of 24, 15,22, 13,9, 10 and 30 will be-
A) 22 .‘ B 24
© 9 2
Te Page 8ol 16 T
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= 3
7 T T T E-
[y

One cand 1 is drawn 2t random from a well <huffled deck of plasing cards. then the prob

, +r ac¢ is - biharboardquestionpaper.com

getting 41
A3 By %
© = LT
36, 7= 3T FF cotf T TWEw 27
Which of the following s equai to cotg?
cos? (B) "5ind
= D)  Safts
37. sinig*
cos7y
{A) 0 (B) i
€ -l D) =
B o M m A I R ery s D

How many cubes can be formed of side 2 cm from a cube of side 6 cm?

A s , ®
© 8 Y

¥ IR T A B TR R 28 TaFTAmE
LCM of two numbers a and 18 is 36 and HCF is 2. then the value if 2" is -
(A) 2 ®) 3

O 4 . D 1

[t10]C - Page90f 16
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40,

ar.

o iy o o g e AT e o . S
Rl A 4 A RidL D R AT n:ft Yoy # WA N BT

The conrhnatcs of the mud pont of the line segment jotning the peants Al 4. amd B
1A i, 0 (Ri £ T 4
(M -3, 1)

W{' |11.1|

femgat (-8, 7) M 1, ) @ d@a 3l Zh R -
= .

Mhctance between the pomts (-5, 7) and (-1. W is-

(A) 232 B W2
SLCLI N m 52
a5 3 27

Pum & 3 PR R agre @ yEnel @A 3 A
In the tollowing quadratic polynomial whose sum of zeros is -3 and product 1s 2!
(B) v +2x-3

(A) -~ X +3y42
" 5
(N x--3x42

(C) x'-3x-2

e g sy A8 &0

Which ol the following is not irrational?
(Al V10 (B) 2%

C) V35 o V121

44/‘ﬂf3'tan9=%?f.ﬁ’f5in9 A E -

4s/ﬁwﬁqa‘ﬁamsﬁ:f:.qgﬁcmfa§m@iﬁﬁmmaﬁm1:%@,?%

If tanB =§ . then the value of sin@ is -
4 2
A ey B -
(A) : (B) &
4
() -:- Dy %

@1 froar 8-

The length of a tangent from a point P at a distance 13cm from the centre of a circle is 12 cm. then

the radius of the circle is-

(A) 6cm (B) _12 cm
(C) 9cm (m 5cm
10]C " Page 100! 16
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6. DR 0D wE R P A Q) Xl PA wen PR a8 ¥ ufe pA =4 ad, @ PR A

PN
L g -
)16 W | (B) 12 ), ‘
© s Dy a0
PA and PB are two tangents drawn from an external point P to a circle, If PA = 4 ¢m then the length
of PB s -
(A)  loem @)  12cm
() Sem D)  4cem
D Agren@ @ RY AL~
(\) 6 TR W 207 g
(€ 6 TR o GowE
Distance of the point P(-6, 8) from the origin is - ol
()  Sunits (B) 207 iinita
(€ Gunits D) 10 units

48, fan’60° FT AH € -

Value of tan“60° is-

(A) 1 B 3

© % ®
49. el ez ED o ELH @ W o7 -
For an event E, which of th:fcllnwing is correct?
(A)  PES] - B)  PE)<0
© ‘ﬁ(E1= 1 @  PE)=-I

0. 2 A.B,C Pt Pt & o o, < sin (225) e &

If A, B. C are angles o7 a triangle, then sin (%) is equal to -

(A) tﬂﬂ% | ‘ B) sin%

| - ; A
O % (D) secy

[110]C ' Page 11 of 16
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@vs —7/ SECTION - B
iR—awjfs ¥¥/Non - Objective Type Questions

@Y 9oy weA / Short Answer Type Questions
w7 s 1 #zsagaaﬁamwmmmﬁmé‘fma#ﬁvzwﬁma

2 | A | .. (=)
Question No. I te.25 are short answer !ype Answer any 15 question. Each, ‘?"‘m"" carries
2 marks. (15x2=30)
J"-/Z.Tf'cﬁg & w9 ¥ 92| : B
Convert 2.47 in the form of E,
2, TR BT 2x+y=5 AR 342y =8 A @ TH AR A '@ A o),
Solve the system of equations 2x + ¥ = .5 and 3x + 2y = 8 by cross-multiplication method.
3, TR A ST AR R st T3 15 auT AR 3R e vt T A 34 2 R
Dcterrmgc the AP whose 5" term is*15 and.the sum of its 3" and 8" terms % 134:
& U qF B AT B FHER 12 3x -0= 00 & i @
Using quadratic formula find the solutions of the equation x*- 3x -10=0,
5 Reafrs-V5 woRiawen el @y
Prove that 5 - v3- is an ircational numbér.
6. x-9m T 99 g ALFT o o Rgal (7,6) 7 (3, 4) % e 2 4

Find a point on X-axis which is equidistant from the points (7, 6) and (- 3 4).
% whwancﬁwﬁwcwﬁw% qﬁWCAaﬂ?CBWWﬁﬁDGﬁ?E uf-
Re 21 frg @ 5 =
, AE?+ BD?= AB?+ DE?
Ina MBC whose £C is right angled, two p-omls D and E are on sides CA and CB respectively.

Prove that -
AE?+ BD*= AB*+ DE?

' 4 IsinB 4 2cos8 __ . :
¢ gf e @ — o (2f
ﬁy tand 3 Ll 3sinB - 2cos@ W al 4

If tanf = % , then find the value of

3s5in@ + 2cosh
. 35in@ - 2cosh

‘10]C - Page 12 of 16
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2947 Tas e via o S 26 W, iR o Y B 21 ¥ R, W 9w amr W T (2)
I | B
Caleulate the volume of a right circular con¢ whose height is 28¢cm and radius of the base is

2lem.
'1'J

10, 3Ry 3 T e i R AR AR (0 y), (1,2) T (7, 0) el €| %

Establish a relation between x and y il the points (x, y), (1, 2) and (7, 0) are collinear.

Y1) Sl ' 14 qon ST 9. W 275 B4R U@ W 725 ¢, o ol e w0 (B
N | .

The HCF of two numbers is-145 and their LCM is 2175. If one number is 725, then find the

othcr number.

ﬂﬁmﬂmﬁmﬁwd.x 4x+l?ﬁ”‘3§l€’fa‘[ + = @ 7 J

AN
If e, B are the zer0s, uf the quadratic polynomial 4x 4x + 1 then find the value of — 8 S+ E

“13. PR ABCH @m’mn o AC W 2 i D 8 E e 59 Yo & f5 DEIBC, afx: rﬁ
AD:LDB=x-2,AE=x+2H24TEC=x—I.Eﬁxﬁ%ﬁ‘tﬁlﬁl -

In AABC, D and E are points on the sides AB and ACrespectively such that DEIBC. If

AD =x, DB=x~2.;iE=x+23ndEC=x- 1, then find the value of x. |

R

14. forg w5 - | 2
Prove that -
sec +tan 6 = tl-t-sin{-})2
secB~tanB .- \' cosb
15, f P & @ E 3,-5) 3R (7,421 TR T B W B 2, -DE A AR (@)
i a7 Frames ) | - ' .
Twn vertu,es ofa tnangle are (3,-5) and (- 7 4) If its centroid is (2, -1);then find its third vertex.
.ﬁﬁﬁmﬁiﬂmwﬁﬁwzﬁrmmsmﬂmmzsmqﬁfﬁml )
Using Buclid's division algorithm, find the HCF of 570 and1425. |
1%wqﬁaﬁmﬁﬁ‘ﬂ'ﬂmwmﬁml @)
Find the surface area of a sPhcre\wﬂusc ﬁianieter is 14 cmL

BiharboardQuestionpaper.com


https://biharboardquestionpaper.com/bihar-board-class-10th-math-question-paper/

ot a1 W W W
Evaluate the fullowing -

Ssind W 4 coedqs ¢ dtanisn’

SN quapd)® + tands’

19 AARC @ s B & Rl AB = AC. i@ @ 9R7 0% g 74 por dtw T ¢ (@)

f a8 4@ AB ® EW, BCH DR a1 AC # F W ¥t o & Rand 5 Dx#1 BC

& wa fig 4

AABC is an isosceles Inangle in which AB=AC. A circle is drawn inside the mmglc such that

it touches AB at E, BC at D and AC at F. Show that D is the mid-point of BC.
wﬁwmwﬁwﬂmﬁﬂﬁmmum_ﬁl
Find the arca of a quadmnt ofa cm:le if its circumference is 44°cm.

Gl B UF TR By o0 R, A I R T 3E AW P W s HW)

Two dice are thrown together, then find the pmhuhlluy of getting same digit.onboth dice.

}fﬁqﬁlﬁammwﬁmﬁ-

IR | 0-10

"10-20

10.'{

30-40

40-30

i

IRARA

12

6.

4

Find the mode of the following distribution -

Cla}u interval

0-10

10-20 | 20-30 |

340

4050

Frequency

12

6

15

Wﬂﬁmwaﬁﬁ-
U [t e | 0-8° [ 8416

16-24

24-32

73240

10

2

14

T 18

Find the mean of the following distribution -

Class interval

0-8

816

16-24

24-32

32-40

40-48

quuency

10 -

20

T

16

18

p)

aﬁﬂmﬁmmmwzﬂt Al 99 wERl B e
product of two consecutive natural numbers is 20, then find the numbers.,

€ A fr! 91 T R IOTE AT | FA-R-T (@ 7O I A i s w
Two coins areossed together. Find the probability of getting at least one head.

(P1]

o))

(2)

)

e

Qy

)

~Phge 14 of 16
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& e e/ Long Answer Type Questions

me#nn&#mmhﬁr}ﬁimm#MJw:‘Mﬁhﬂ

T4 & v (4x5=20)
5. Answer any 4

Question Nos. 26 po A3 are loug Answer Thpe Questions. Each question carries § marks.
(dx5=20)

guestions,
26, e gm e dy=17 @ 2y =6 @ U W ol g A

Draw the graph of parof equati-.ms 20+ 3y = 17 and 3x - 2y = 6 and solve them,

2. .saﬁ:ﬁ's‘?ﬁmé:ﬁaﬁtmﬂmﬁmﬁmmﬁﬂmﬂaﬂ@#lﬁﬂ%ﬁ (%)

ﬁmﬁéﬁméwmmm“aﬂ?m“%lw

== 2 du weF 3 @ R

& o ok o @ R A Q TW AR

ichts are standing opposite to each other on either side of the road, which

Two poles of equal

is 80m wide. From a pokt between them on the road, the angles of elevation of the top of the

poles are 60° and 30° respectively. Find the height of the poles and the distance of the point

from the pole.
PwWﬁg%rmﬁﬂéwmaﬁmwaﬂﬁl e

28 E
an external point to a circle are equal.

Prove that the length of rangents drawn from

29, r%rnﬁqas*mm—%mﬁﬁr.aﬁqﬁwm%mﬁﬁwsﬁ;ﬁ/ﬁam &
L =
gﬁ‘a‘zra'nmﬁmamwﬁﬁnm@aﬁwmaﬂl

4 rain travels 360km at a uniform speed. If the speed had been 5 km/h more, it ‘would have

a_kcn | hour less for the same journey. Find the speed of the train.

[110]C ‘ Page 15 of 16
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0. Nig @ [ - .
A3y
Prove that
(sinA + coseeA) 4 (cosA 4 seeA) =T 4 [un".;\ + o’ A

_u),-f?. A [y g ga @l s ond) v Wftar PQ 21 P afiv Q qv et yard YT O9m o (§)

T W ulRyade wedd) &1 e AR Gy s an

PQ 1s a chord of length § cm ol a circ!.r: of radius 5 cm. The tangents d P and 0 lin_rt:mi;l. al a

point T. -Fr'rul the length of TP. |

32, 6 flew A1 ol 1.5 fex el v TR A arl 10 fanR /e 9 w1 W a <@ 81 30 fore (5)

§ o TR e dwa @ Riad @ oo, s Riend @ fog o AL e oef @

anTeedr g 81

Water is flowing with a speed of 1Q km/hour in a canal 6 m wide and 1.5 m"dcep. How much
ared wiIJ. it fm’gauc‘in 30 minutes, if 8 cm of standing water is nceded for irrigation?
33. 3 :ﬂevmmarw@ﬁmwﬂaaﬂm#ww:ﬁm?rmmﬁﬁgﬁﬁ@ﬁqﬁ (5)
%mﬁm4ﬁﬁmwm,mm§quﬁmﬁzﬁmmﬁa
g S &1 g9 df @ SaE 9 R |

* A well of diameter 3 m is dug 14 m deep. The carth taken out of it has been spread evenly all

around it in the shape of a circular ring of width 4 m to from an embankment. Find the height
fagTe &g & v e yeret sifhfaas
of the embankment. e TTT, e o, aE-dT,
UTahd, siled, Al e, de- 3 e
N udtelr usst u4 3nfe & fAv...
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